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SUPERFICIE NETTA

P.T. = mq. 108.25

P.1 =mq. 48.19

PS1 =mq. 152.79

balconi terrazzi = mq. 79.55
portico = 17.84

giardino = mq. 1805.40

Totale superficie netta
108.25 + 48.19 + 152.79 = mq. 309.23

SUPERFICIE LORDA

P.T. =mgqg. 131.01

P.1 =mgqg. 57.12

P.S1 =mq. 202.10

balconi terrazzi = mq. 79.55
portico = 17.84

giardino = mq. 1805.60

Totale Superficie Lorda
131.10 + 57.12 +(202.10x50%) +(79.55+17.84)x50% +(1805.60x10%) =
=131.10+57.12+ 101.05 + 48.69 + 180.56 = mq. 518.52

SUPERFICIE COMMERCIALE
P.T.=mq. 131.01

P.1 =mg. 55.43

P.S1 =mgq. 202.10

balconi terrazzi = mq. 79.55
portico = 17.84

giardino = mq. 1805.60

| Tot commerciale
| = 18L10 % (79.55x25%)*(17.84x
- 60%)+(1805.60x10%) = 131.10
+121.26 + 180.56 = mq. 478

https://drive.google.com/file/d/1p4jDeJakGhIBhc-ZqqB9gTNwZROvfgf-/view



